AB

Dg2 Dg3

-2700

-2200

-1700

-1200

-/00

20,0 meter

15.0 metar

10.0 meter

5.0 meter

_EDD X 0.0 meter

-1200

-700




2.2.3

Ac

Ag

Dsl

Dgl

Ds2

Dg2

Dg3

Dc

Pl

£ LW
wHetL

=1 080

560
2,008

-2.500

-1 0E0

-2.000
-1.500

1,000

-200

500

0.0




2.2.4

-1.080 :

2,000

1,000

500

1,500

Ac

As

Ag

Ds1

Dgl
Ds2
Dg2
Dg3

Dc

1=l .Ag
Dgl

Dg3

500




2.3

2.3.1
AB
A Dg2 Dg3
A
2.3.1
m2/sec
B 100 5 1>=<107° 1.0 1.0 0.0
Ac 100 5 1>=<107° 1.0 1.0 0.0
As 100 5 1>=<107° 1.0 1.0 0.0
Ag 100 5 1><10"° 1.0 1.0 0.0
Ds 100 5 1><107° 1.0 1.0 0.0
Dgl 100 5 1>=<107° 1.0 1.0 0.0
Dg2 2 200 10 1>=<107° 1.0 1.0 0.0
Dg3 3 400 20 1><10°° 1.0 1.0 0.0
Dc 100 5 1>=<107° 1.0 1.0 0.0
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3.1
DPAA 8 1
3.2
Y Dtransu-3D EL
Dtransu-3D EL
3.3
e 1
16 8
0.35 3.3.1
3.4
[ J
2500 1 15
4.3.1 3.4.1
4.3.1
0.2
0.5 1.6mm/
0.5
0.5
0.8
4 9 1.6mm/
18 6
3.4.2
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